Algebra 2 - Mr. C. - All work on looseleaf. No calculators. Name

Week 7 Practice - Ref. Ch. 12-2
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ID: 1

Date Period

Use the information provided to write the standard form equation of each circle.

1) Center: (3, l)

Radius: 5

3) Center: (6, -1 1)
Radius: 5

5) Center: (—6, 15)
Radius: 3

7) Center: (8, 10)
Radius: 2\/g

9) Center: (0, —4)
Point on Circle: (—14, O)

11) Center: (—4, 13)
Point on Circle: (—6, 14)

13) Center: (-9, —16)
Point on Circle: (—9, —14)

15) Center: (—2, 4)
Point on Circle: (—5, 16)

9, 1) and (-2, 1)
9,17) and (-9, —17)

17) Ends of a diameter:
19) Ends of a diameter:
21) Ends of a diameter:

A~ N S/~

23) Ends of a diameter: (—12, —5) and (16, 5)

25) Center: (-10, —1)
Tangent to x =—6

27) Center: (7, 12)
Tangent to x =8

29) Center: (-3, 14)
Tangent to x = —6

31) Center: (-7, -11)
Tangent to y =-10

4, 14) and (10, 12)

2) Center: (16, 8)
Radius: 1

4) Center: (—15, —4)

Radius: \/E

6) Center: (—13, —15)
Radius: 2

8) Center: (—4, 3)
Radius: 10

10) Center: (—5, —2)
Point on Circle: (7, 4)

12) Center: (-3, -10)
Point on Circle: (—1, -1 1)

14) Center: (—8, —l)
Point on Circle: (—10, 8)

16) Center: (=7, -16)
Point on Circle: (10, —16)

18) Ends of a diameter: (—5, 8) and (0, —6)
20) Ends of a diameter: (—3, 5) and (—7, —10)
22) Ends of a diameter: (1, 16) and (—1 1, 6)
24) Ends of a diameter: (2, —8) and (12, 4)

26) Center: (~13,9)
Tangent to x = -9

28) Center: (10, 3)
Tangent to y =1

30) Center: (13, —6)
Tangent to y = -3

32) Center: (~16, -16)
Tangent to x = —17

Identify the center and radius of each. Then sketch the graph.

33) X +(y+3)=9

35) X2+ (y-3)%=16

37) 2+ (p—4)=1
39) (x+2) +(y+4)?=1
41 (x+22+(+2)?%=5
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y+l)2

34) (x+1)%+ =9
y-1)=17

(
36) (x+1)% +(
38) x>+ =1
40) (x+1)*+ )’ =4

42) (x=1)*+(y+4)1=4



Answers to Week 7 Practice - Ref. Ch. 12-2 (ID: 1)

D (x=32+(G-1)?%=25 2) (x-16)2+(y-8)*=1 3) (k-6 +(y+11)?=25
4) (x+15)?2+(y+4)?=13 5) (x+6?+(y-15?%=9 6) (x+13)+(y+15)°7=4
7) (x—8)+(y-10)*=24 8) (x+4)*+(y-3)*=100 9) 2 +(y+4) =212
10) (x+5)%+(y+2)*=180 1) (c+4)?+(G-13)=5 12) G+3)+(+1002=5
13) (+9)%+(y+16)?= 14) (x+8)*+(y+1)?=85 15) (x+2)*+(y-4)*=153
2 2 2
16) e+ 7V +y+16) = 17) (wﬂ) ) T (x+§) syop =2l
2 4 2 4
2, 2 2 2 _17)? =
19) x>+ y* =370 20) (x4 5 +(y+§) 2;11 21) (x+ 72+ (p—13)*=10
22) (x+5)+(y—11) =61 23) (x—2)%+ =221 24) (x= 7 +(y+2)* =61
25) (x+10%+(p+ 1) =16 26) (x+13)*+(y-9)*=16 27y (x=7+(y-12)*=1
28) (x= 10 +(y-3)*=4 29) (x+3)+(y-14)2=9 30) (k=13 +(y+6)>*=9
31) (+ 7+ (p+11)2 =1 32) (x+16) +(y+16) =1
33) 34)
8\)} Center: (0, 73) 8‘ Y Center: (71,71)
6 Radius: 3 p Radius: 3
y > < /TN >
B FATNT i Bo¥ 2 ¢ x
(1) N
1/
B’ R
35) 36)
gly Center: (0, 3) 8‘ Y Center: (71, 1)
/;"\\ Radius: 4 p Radius: \/ﬁ
) P
(1)
TR e b ]— 6 8 R 6 \4 ;) 3 6 87
- -
I’ R
37) 38)
3\y Center: (0, 4) 8‘ Y Center: (0, 0)
6 Radius: 1 p Radius: 1
[ARY 4
Y )
D
g 2 6 87 R —2>J 6 87
B’ R
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39)

Ny Center: (72, —4)
Radius: 1

D
N
=]
=g
/
41)
8‘ Y Center: (72, -2)
Radius: \/g
O]
4

‘—8—674'—2) 24 6 8,
N
—U
=4
/
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42)
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Center: (71, 0)
Radius: 2

Center: (1, -4)
Radius: 2
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